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COIlIPLEIVENTARY ELECTIVE COURSE IN STATISTICS

4C04STA(G&P) : lnferential Stalislics

Trme:3 Hours lr,4ar Nlarks:40

lnstruction: Use afcalcutatorc and statistical tables are pemitted.

PAFIT A
(shorl Answe4

Answer allquestions.

1 Definethe term siaistic

2 Define a consstenl eslimalor

3. Whal do you mean by confidence lnteryaL estimation ?

4. DeJine a null liypolhesis

5. Howdo you deiine a smallsampe lest ?

PART B

(Sho{ Essay)

Answerany 6 questions

7. Whal are ihe des rable properli€s oi a good estimator ?

I Oblaln lhe 95',! confidence inleryallorlhe proporlon of a population

9. Oblain lhe lwo lypes ol errors assocaled to a slalsticalhypolhesis

10. Expain lhe role ol slandard e(or ir tesl ng hypolhesis problems.

'I Dr,l19-J oe^eeno_elela o ro d pdle,s

I 2. What a.e the app icat ons ot a t tesl ?

13 Deflne lMafn Wh tney U les1s.

I 4. Exp ain lhe le.hn que oi one way c assiiled ANOVA
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PAFT C

(Essay)

Answer any 4 quesiions l4r3=12')

1 5. Deline the eiliciency oi an esllmalor- G ve an example.

16. Obtain lhe 95% conridence interva for lhe dilfercnce of the means oi hvo

17. Explain simile and composite hypolhesis with examples.

18. Explain goodness ol iil.

19. Acoin istossed 400timesandthe headturned up216l mes. Test lhe hypolhesis
thai the coin is unbiased.

20. Oullinethe structure of one-way ANOVA lable.

PAFT - D

(Long Essay)

Answer any 2 qLestions {2:5=10)

21- A random sample of size 16 has 53 as mean. The sum oi squares otdeviallons
taken trom mean is 1 35. Obtair the 99% conlidence imils lor the mean ol the

22. Slggest a criteron lor finding ihe mosl powedu tests.

2s. A drug is given to 10 patienls and lhe incremenls in lheir blood pleasure were
recorded to be 3, 6, 2, 4, -3, 4, 6, O, O, 2. ls it reasonable io beliei/e ihar ihe
drug has no eflect on change oi blood pressure ?

24. The three samples below have obiained irom normal populations wilh equal
vadances. Tesl lhe hypolhesis thal lhe sample means are equal.

Sample I Sample ll Sarnple lll
8712

10 _ 5 I
710 13

14912
11 914


